| Efficiency vs Dxy |
> 0.2
<

5 - : : 5 : : :
0 018 P P R R
< : : : ; : : :
L T T S

9 - H H H q N N N
Q014
E . . . . . .

02l
ok 4
o8-l
T e

008 M
002 il

0_||||;||||;||||;

Ratio

20 =15 =10 =5 0 5 10 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

0.5 —— DQM_pixelCPETemplateCutChiSquareNew5_step2_ttbar-phasel-newgeom

VP SN | N S S —

dz

a‘ E : : : : :

§ OAf
(8] r : : : . .

£ 0.35 Frrete I AR frorereees A
o - : : : :

1 EE S G S
e s s s s
L 1| e e v
O
L s
0.0+

Ratio

TP dz (cm)



	Contents
	Page 1


